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R B F — BB|F mCC| 78 78 (39/39)
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45 & W 5 T4 5 BmGC| 8 82  (40/42)
n % FE | Al Kk Ggc| 82 82  (42/40)

T H B OmT -9 2 v X vac| 82 82 (42/40)

B #% £ AL M T JU LcCcC| 8 82 (40/42)
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b K OX([® Jl cc| 82 82 (45/37)

= JIIl ® BT /N—41y —>ce| 82 82  (40/42)
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m W E |y v L o v &~ cc| 83 83  (43/40)

B R F Bl 44 R E FCc| 8 83 (40/43)

X # B K| R R # » #mFcc| 8 83  (40/43)

& B8 F H[FX —H % v FaGC| 8 83 (38/45)

Ed U] Rl €84 v % —Gcl 83 83  (43/40)
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53 B o - B|s L CcC| 83 83 (44/39)
= % EARH [ B ccl| 83 83  (43/40)
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